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SUPPLEMENTARY INFORMATION 2

EXPONENTIAL DECAY CURVE OF C1-C11

C1
8x10’
7x10 1 Equation y=A1*exp(-x/t1) + y0
7_
107} IAd.R-Squ  0.99738
5x107 Value Standard E
%‘ )] y0 1.0436E 38866.779
g 10 A1 8.45987 553452.63
= 31074 t1 0.01062 1.03104E-
2x10
1x10
0 T T T T T T
0.0 0.2 03 0.4 0.5
Time(ms)
C2
1.2x10
_ —— Exp. Decay of C2
1.0x107 4 — Exp. Decay of C2
8 0X106 ] Equation y=A1*exp(-x/t1) +y0
; Adj.R-Sq  0.99319
‘g 6.0x10° 4 Value Standard
S | S1 y0 255511.4 9376.141
. S1 A1 3.44703E 833816.4
4.0x10° S1 0.00939 1.50069E
2.0x10° -
0.0 a

0.3 0.4 0.5 0.6




C3

—— Exp. decay of C3
6
6x10" —— Exp. Decay1 fit <3
5x10°- Equatio y = AT*exp(-x/t1)
1 n +y0
4x10° Adj. R- 0.99116
g 1 Value  Standar
£ 3x10° S1 y0 178962. 5410.97
“ ] X Al 179532 502379.
2x10° S1 t1 0.00921 1.68154
1x10°
0 | A A A A PavAAA
T T T T T T T T T
0.1 0.2 0.3 0.4 0.5 0.6
Time (ms)
C4
1.2x10°
C4
1.0x10° 4 Equation  y=A1*exp(-x/t1) + y0
Adj. R-Squa 0.99027
8.0X107— Value Standard Err
S1 yo 9.24157E 103713.783
'é“ S1 A1 1.1668E8 1.34612E6
% 6.0x10" - S1 t1 0.01447 2.47381E-4
£
4.0x10’
2.0x10’ -
0.0 T T T T T T T T T T T
0.0 0.1 0.2 0.3 0.4 0.5 0.6 0.7

Time(ms)



Time (ms)

8x10’
1 C5
7x10" Equation y=A1*exp(-x/t1) +y0
7 -
010711 IAdiR-Squ  0.99738
5x10 Value  Standard E
%‘ . S1 y0 1.0436E 38866.779
gH0T st A1 8.45987 553452.63
= 3x107 - S1 t1 0.01062 1.03104E-
2x10 -
1x10 -
0 T T T T T T T T
0.0 0.1 0.2 03 04 0.5 0.6
Time(ms)
2.5x10" —— Exp. Decay of C6 c6
— Exp Decay fit
2.0x10° 4 Equation y=A1*exp(-x/t1) +y0
Adj. R-Sq  0.99343
Z 1.5x10’ Value Standard
% S1 y0 209325.7 12950.99
= 7 | S1 A1 2.73944E 201385.1
= 10x10 S1 t1 0.01034 1.23614E
5.0x10°
0.0
T T T T T T T T T
0.2 04 0.6 0.8 1.0




C7

2.5x10
—— Exp Decay of C7 C7
2.0x10’ —— Exp. Decay fit
1.5X107 a Equation y = A1*exp(-x/t1) + y0
.‘E‘ Adj.R-Squ  0.99312
5 ; Value Standard E
€ 1.0x10" s1 y0 195523.0 12586.693
= S1 A1 2.47685E 187032.03
S1 t1 0.01166 1.41511E-
5.0x10°
0.0 i
T T T T T T
0.2 04 0.6 0.8 1.0
Time (ms)
C8
3.5x10° — S
o —— ExpDec1 of $1 C8
3.0x10"
X ] Equation y = A1*exp(-x/t1) +
6 | y0
2.5x10 ] Adj. R-S  0.9931
Q 2.0x10° - Value Standard
2 ] S1 y0 163624.9 2681.520
*qé 1 5X106_ S1 A1 1.1186E 290514.9
= i S1 t1 0.0086 1.39558
1.0x10° -
5.0x10°
0.0
T T T T T T T T
0.1 0.2 0.3 0.4 0.5 0.6

Time (ms)




Cc9

1.0x10° - Equation y=A1*exp(-x/t1) +y0 Cc9
} Adj. R-Squ  0.99263
8.0x10" Value Standard Er
S1 y0 1.0413E 83793.988
£ 6.0x10'- S1 A1 1.01967 1.11253E6
g S1 t1 0.01198 1.9419E-4
=
4.0x10"
2.0x10’ -
VSV NW-VN —~ A VAA_ A_ A A
0'0 T T T T T T T T T
0.0 0.1 0.2 0.3 0.4 0.5 0.6
Time(ms)
C10
1.2x10°
Equatio y = A1*exp(-x/t1) C10
1.0x10° n +y0
Adj. R- 0.98793
8.0x10’ - Value Standar
) S1 yO 905201. 172710.
£ ) S1 A1 1.18994 1.78943
£ 6.0x10'+ S1 t1 0.01552 3.49744
A=
4.0x10’ -
2.0x10"
0‘0 T T T T T T T
0.0 0.1 0.2 0.3 0.4 0.5

“Time(ms)



C11

1.0x10°
C11
Equation y = A1*exp(-x/t1)
2:8.0x10" +y0
£ Adj. R-S 0.98373
%6.03(107- Value Standard
g S1 y0 1.6648 287568.
3 S1 A1 1.1612 3.65396
§4.0x1 7 S1 t1 0.0054 2.54627
=}
=
2.0x10’
0.0 T T T T T T T T T
0.00 0.05 0.10 0.15 0.20

Time(ms)



